Test Information

Test Name MPSC 2023 GROUP-B SET 6 Total Questions 100
Test Type Examination Difficulty Level Difficult
Total Marks 200 Duration 120 minutes

Test Question Language:- ENGLISH

1. Which institution published the “Women, power, and cancer’ report?

a. WHO

b. CDC

c. Lancet Commission

d. John Hopkins University

Answer. ¢

2. Upper Bhadra scheme, which was seen in the news, is a project of which state/ UT?

a. Uttar Pradesh

b. Madhya Pradesh
c. Karnataka

d. Odisha

Answer. ¢

3. Which herbicide has lately been subject to restrictions by the Indian government out of concern for the safety of people and animals?

a. Glyphosate
b. Glufosinate
c. Atrazine

d. Carbofuran

Answer. a

4. Which country and India decided to collaborate on future ICT, mobile technologies, and digital education projects?

a. Thailand
b. Finland
c. China

d. USA

Answer. b

5. Who has been appointed as the CEO of the Khadi & Village Industries Commission (KVIC)?

a. Ajay Bhushan Pandey
b. Abhishek Singh

¢. Ajay Bhushan Pandey
d. Vinit Kumar

Answer. d

6. Which state has the first 3x platform wind turbine generators (WTGs) in India, installed by ReNew Power?



a. Rajasthan

b. Karnataka
¢. Tamil Nadu
d. West Bengal

Answer. b

7. Which country and India signed an MOU to establish the Phukot Karnali Hydroelectric Project?

a. Nepal

b. Bangladesh
¢. Myanmar
d. China

Answer. a

8. Which state passed a bill amending the procedure to select police chief by cutting out role of the UPSC?

a. Punjab

b. Maharashtra
c. Kerala

d. Rajasthan

Answer. a

9. Which nation launched the Yakutia nuclear-powered icebreaker?

a. Australia
b. France
c. Germany
d. Russia

Answer. d

10. Which Asian nation was the first to receive funding from the IMF's Resilience and Sustainability Facility (RSF)?

a. India

b. Bangladesh
¢. Nepal

d. Pakistan

Answer. b

11. Galapagos Island is a UNESCO world natural heritage site located in which country?
a. Indonesia

b. Ecuador

c. South Africa

d. New Zeland

Answer. b

12. INDUS-X is a joint initiative of India and which nation?

a. Australia



b. UK
c¢. USA
d. Ttaly

Answer. ¢

13. Which of the following Indian social reformers created Raja Yoga, Karma Yoga, Bhakti Yoga, and Jnana Yoga?

a. M. G. Ranade

b. Ramkrishna Paramhansa
¢. Swami Vivekanand

d. Raja Ram Mohan Roy

Answer. ¢

14. Swaraj as a national demand was first made by:

a. Bal Gangadhar Tilak
b. Dadabhai Naoraji
c. Jawaharlal Nehru
d. Chittaranjan Das

Answer. b

15. Who came up with the slogan "Inqlab Zindabad"?

a. Bhagat Singh

b. Moulana Hasrat Mohani
c. Igbal

d. Chandra shekahar Azad

Answer. b

16. Who started the Bombay Association in 1852, the first political organisation during the administration of Bombay?

a. Jagannath Shankarsheth
b. Dadabhai Naoroji

c. Surendra Nath Banerjee
d. Sir Syed Ahmad Khan

Answer. a

17. Which of the following acts established the constitutional autocratic principle?

a. Government of India Act, 1919
b. Indian Councils Act, 1891

c. Independence of India Act, 1947
d. Government of India act, 1935

Answer. d

18. Who was responsible for the end of Lord Clive's dual administration system?

a. Lord Curzon

b. Lord Warren Hastings



¢. Lord Amherst
d. Lord Linlithgow

Answer. b

19. When the Treaty of Bassein was signed, who was the Peshwa?

a. Bajirao |

b. Balaji Biswanath
c. Bajirao II

d. Madhavrao 1

Answer. ¢

20. Which of the following established the kingdom of Kapurthala?

a. Banda Bahadur

b. Jassa Singh Ahluwalia
¢. Kapur Singh

d. None of the above

Answer. b

21. Which of the following Congress sessions saw the formation of the Swaraj Party?

a. Nagpur
b. Calcutta
c. Gaya

d. Lahore

Answer. ¢

22. Which of the following year saw the creation of the Central Provinces?

a. 1861
b. 1862
c. 1863
d. 1864

Answer. a

23. In which year did M.N. Roy founded the Communist Party of India in Tashkent?

a. 1915
b. 1916
c. 1918
d. 1920

Answer. d

24. Which of the following started the Faraizi revolt?

a. Bhagat Jawahar Mal

b. Haji Shariat-Allah

¢. Syed Ahmed



d. Chirag Shah

Answer. b

25. In terms of geographical area among Indian states, what is Maharashtra’s rank:

a. Ist
b. 2nd
c. 3rd
d. 4th

Answer. ¢

26. Which of the following bird Sanctuary is Maharashtra's first Ramsar site?

a. Nandur Madhmeshwar Bird Sanctuary
b. Jayakwadi Bird Sanctuary

¢. Mayani Bird Sanctuary

d. None of these

Answer. a

27. Which of the following wildlife sanctuary of Maharashtra is also known as Bison Sanctuary?

a. Phansad Wildlife Sanctuary

b. Radhanagari Wildlife Sanctuary
c. Ghodazari Wildlife Sanctuary
d. Sagareshwar Wildlife Sanctuary

Answer. b

28. In which of the following years was Chhatrapati Shivaji Terminus designated as a UNESCO World Heritage Site?

a. 2000
b. 2002
¢. 2004
d. 2006

Answer. ¢

29. Bharachukki Falls are located in which state of India?

a. Karnataka

b. Andhra Pradesh
c. Telangana

d. Tamil Nadu

Answer. a

30. Which of the following is the main crop of the Deccan Plateau?

a. Wheat
b. Ground nut
c. Pulses

d. Cotton



Answer. d

31. Which of the following is Karnataka's highest peak?

a. Mullayanagiri

b. Baba Budan Giri
c. Brahmagiri

d. Pushpagiri

Answer. a

32. The Kaas plateau is situated in which of the following Indian states?

a. Karnataka

b. Kerala

c. Andhra Pradesh
d. Maharashtra

Answer. d

33. Which Indian state is the largest producers of salt in the country?

a. Tamil Nadu
b. Gujarat

c. Maharashtra
d. Rajasthan

Answer. b

34. On which water region does Andaman and Nicobar Islands lies?

a. Indian Ocean
b. Arctic Ocean
c. Pacific Ocean
d. Bay of Bengal

Answer. d

35. The Dal Lake is located in which Indian union territory?

a. Chandigarh

b. Andaman and Nicobar Islands
¢. Jammu and Kashmir

d. Ladakh

Answer. ¢

36. The Gulf of Mannar is located in which Indian state?

a. Tamil Nadu

b. Kerala

c. Karnataka

d. Andhra Pradesh

Answer. a



37. Who was the First President of India?

a. Dr. Rajendra Prasad
b. Ram Nath Kovind
c. Pranab Mukherjee
d. Manmohan Singh

Answer. a

38. Who is the head of the state government in India?

a. Governor
b. Chief Minister
c. President
d. Prime Minister

Answer. a

39. What is the minimum age to be eligible for becoming a member of the Rajya Sabha ?

a. 30 years
b. 40 years
c. 25 years
d. 35 years

Answer. a

40. Which committee is responsible for reviewing the fiscal policies in India?

a. Economic Advisory Council

b. FRBM Review Committee

c. Public Accounts Committee (PAC)
d. Planning Commission

Answer. b

41. In which year FRBM Review Committee was formed?

a. 1947
b. 1950
¢. 2015
d. 2016

Answer. d

42. As per the Indian Constitution who has the authority to dissolve the Lok Sabha (House of the People)?

a. The Chief Justice of India
b. The President

c. The Speaker of Lok Sabha
d. Mayor

Answer. b



43. Who appoints the Chief Election Commissioner of India?

a. The President of India

b. The Speaker of Lok Sabha
¢. The Chief Justice of India
d. The Prime Minister of India

Answer. a

44. Who has the power to remove a Judge of the Supreme Court of India?

a. A special committee appointed by the President
b. The President

c. The Chief Justice of India

d. Governer

Answer. b

45. Which article of the Indian Constitution deals with the Right to Freedom of Religion?

a. Article 32
b. Article 19
c. Article 21
d. Article 25

Answer. d

46. Which organisation helps parliament of India to keep control over the finance of the country?

a. Economic Advisory Council
b. Planning Commission
¢. Public Accounts Committee
d. Financial Committees

Answer. d

47. Which schedule of the Indian Constitution deals with the provisions that specify the powers, authority and responsibilities of Municipalities?

a. Second Schedule
b. Fourth Schedule
c. Twelth Schedule
d. First Schedule

Answer. ¢

48. Which schedule of the Indian Constitution lists the powers, authorities, and responsibilities of Panchayats?

a. Ninth Schedule

b. Twelth Schedule
c. Tenth Schedule

d. Eleventh Schedule

Answer. d

49. When did National Food Security Act was passed?



a.2013
b. 2014
¢. 2015
d. 2010

Answer. a

50. Which social group is targeted by the National Food Security Act (NFSA) for providing subsidized food grains?

a. Pregnant women and lactating mothers
b. Children between 6 and 14 years

¢. Senior citizens above 65 years

d. Antyodaya Anna Yojana households

Answer. d

51. What is the primary focus of the National Health Mission (NHM) in India?

a. Improving healthcare infrastructure

b. Implementing health insurance schemes
c. Conducting medical research

d. Promoting medical tourism

Answer. a

52. Which one of these is not a major goal of National Health Mission ?

a. Reducing Total Fertility Rate

b. Prevent and reduce anaemia in women
¢. Reducing Maternal Mortality Rate

d. Increasing overall GDP of India?

Answer. d

53. In which year National Health Mission was introduced?

a. 2000
b. 2010
¢. 2013
d. 2020

Answer. ¢

54. Which of the following is a component of the Multidimensional Poverty Index (MPI)?

a. Foreign direct investment (FDI)
b. Living standards

c. Stock market performance

d. Gross National Product (GNP)

Answer. b

55. What is the aim of the National Rural Livelihoods Mission (NRLM) in India?



a. To reduce poverty by promoting self-employment and enterprise development
b. To increase agricultural subsidies

c. To provide free healthcare services in rural areas

d. To promote urbanization and migration

Answer. a

56. Which of the following is a measure of gender inequality used in the Human Development Index (HDI)?

a. Gender Parity Index (GPI)

b. Gender Development Index (GDI)

¢. Gender Inequality Index (GII)

d. Gender Empowerment Measure (GEM)

Answer. ¢

57. Which international organisation introduced Sustainable Development Goals (SDGs)?

a. World Health Organization (WHO)
b. International Monetary Fund (IMF)
c¢. United Nations (UN)

d. World Trade Organization (WTO)

Answer. ¢

58. Which of the following is a key component of a participatory democracy?

a. Monarchical system

b. Active citizen engagement in decision-making
¢. One-party rule

d. Authoritarian governance

Answer. b

59. Which among these aims of a social safety net program aimed at reducing poverty in India?

a. National Aeronautics and Space Administration (NASA)

b. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)
¢. Reserve Bank of India (RBI)

d. Securities and Exchange Board of India (SEBI)

Answer. b

60. What is the concept of "Inclusive Growth"?

a. Growth focused on technology and innovation

b. Economic growth that benefits all sections of society
c¢. Growth of a specific industry

d. Rapid growth of urban areas

Answer. b

61. What is the scientific name for the study of animal behavior?

a. Ethology



b. Botany
c. Entomology
d. Ornithology

Answer. a

62. Which of the following is a Venomous snake?

a. Boa Constrictor
b. Python

c. Rattlesnake

d. Anaconda

Answer. ¢

63. Which of the following is a gymnosperm?

a. Oak tree
b. Rose bush
c. Lily flower
d. Pine tree

Answer. d

64. What is the function of a fish's swim bladder?

a. Digestion

b. Buoyancy control
c. Breathing

d. Reproduction

Answer. b

65. What is the process by which plants bend or grow towards a source of light?

a. Phototropism
b. Photosynthesis
c. Hydrotropism
d. Gravitropism

Answer. a

66. What is the chemical symbol for Lead?

a. Ld
b.Le
c. Pb
d.Pd

Answer. ¢

67. The colour of the eye depends upon the pigment present inside?

a. Rods

b. Iris



¢. Cornea
d. Cones

Answer. b

68. Which of the following is an example of a scalar quantity?

a. Velocity

b. Force

¢. Acceleration
d. Temperature

Answer. d

69. What is the purpose of flower in plants?

a. Photosynthesis

b. Reproduction

c. Nutrient absorption
d. Water storage

Answer. b

70. Which of the following is an alkali metal?

a. Sodium

b. Chlorine
¢. Aluminium
d. Calcium

Answer. a

71. Which among the following waves is used for communication by artificial satellites?

a. Frequency of 101 series
b. Radio waves

¢. Microwaves

d. AM.

Answer. ¢

72. Which law states that the angle of incidence is equal to the angle of what?

a. Diffraction
b. Refraction
c. Dispersion
d. Reflection

Answer. d

73. Which one of the following is caused due to mosquito-bite?

a. Typhoid

b. Cholera

¢. Malaria



d. Tuberculosis

Answer. ¢

74. How many handshakes if there are 20 people?

a. 140
b. 160
¢. 190
d. 170

Answer. ¢

75. The total age of eight kids in a family is 28 years. What will be the total of their ages after eight years?

a.92

Answer. a

76. Simplify: 70 —40 x 2 + 12

b. 6
c. 8
d.2

Answer. d

77. The population of the city is 12368. Out of them 2382 are women and 4928 are men. Find the number of children in the city.

a. 5055
b. 5058
c. 5042
d. 5030

Answer. b

78. Suresh's yearly salary is 3,60,000. Find the monthly salary

a. 30,000
b. 20,000
¢. 25,000
d. 45,000

Answer. a

79. The average of three numbers is 90. First two numbers are 120 and 80. Find the third number

a. 80



c. 90
d. 60

Answer. ¢

80. If the area of a rectangle is 160 square units and its length is 8 units, what is its width?

b. 12
c. 13
d. 20

Answer. d

81. 60 is what percent of 400?

a. 12

Answer. ¢

82. The cost of 20 purses is 80000. Find the cost of 4 purses

a. 16000
b. 18000
¢. 12000
d. 8000

Answer. a

83. LCM of 30 and 60

a.30
b. 45
c. 15
d. 60

Answer. d

84. HCF OF 40 and 120

a. 80
b. 120
¢. 40
d. 20

Answer. ¢

85. The sum of squares of two positive integers is 365. Find the integers

a. 13 and 14

b. 14 and 12

c. 12 and 18



d. 14 and 13

Answer. a

86. a+b=4 a"2-b"2=16 a-b="?

a.3
b.-3
c.6
d. 4

Answer. d

87. In a college there are 80 girls and total of 120 students. Find the number of boys

a. 30

Answer. ¢

88. Who introduced Gini Index?

a. John A. Macdonald

b. Alexander Mackenzie
c. John Thompson

d. Corrado Gini

Answer. d

89. In which year Human Development Index (HDI) was introduced?

a. 1990
b. 2001
c. 1947
d. 2010

Answer. a

90. Which coutry have the highest HDI scores?

a. Switzerland
b. Japan
c. China
d. Tokyo

Answer. a

91. Which of the following is a key indicator of a country's Human Development Index (HDI)?

a. Military expenditure
b. Gross Domestic Product (GDP)
c. Total population

d. Life expectancy at birth



Answer. d

92. What kind of triangle is it if the angles are 30 degrees, 60 degrees, and 60 degrees?

a. Scalene triangle

b. Right-angle triangle
c. Isosceles triangle

d. Equilateral triangle

Answer. a

93. Find the missing number in the series: 1 123 58 ? 21.

a. 12
b. 13
c. 11
d.9

Answer. b

94. If BED= DEB BAD= DAB CAT=?

a. ACT
b. TAC
c. CAT
d. ATC

Answer. b

95. Find the number of divisors of 10800

a. 57
b. 60
c.72
d. 68

Answer. b

96. Find the missing number in the series:

a. 14
b. 22
c. 32
d. 320

Answer. ¢

97. What is 5% of 5% of 800?



b. 4
c.6
d.3

Answer. a

98. Volume of cylinder is:

a.nr’h
b.3nr*h
c.2nr*h

d. 2/3(nr* h)

Answer. a

99. What is the area of a rhombus if the diagonals of a thombus are 16cm and 12cm?

a. 96 cm”2
b. 98 cm"2
c. 102 ecm™2
d. 89 cm"2
Answer. a

100. In a row all the persons are facing north, Rahul is 33rd from the left end and in the right side of Rahul, there are only 16 persons. Find out total
number of person in this queue?

a.49
b. 50
c. 51
d. 48

Answer. a
Test Question Language:- HINDI

1. U TR AR, T M R’ A URkig par?

a. SsUTSh

b. P

c. TIT ST

d. S giufe-g fayfemdic

Answer. ¢

2. 3TR Y Ao, St STaHaed aifgel et g, ot HIore g /42 Aefid Udhed 318 2

a. IW W™
b. 7 WX
c. Fied
d. sifg=n

Answer. ¢



3.7 YT UTogte QRIS RIdge YR WHRA HIO@T qUATRIGIGR §eF grdat ea?

a. TWEBRT
b. HIRFE
c. TeIeH

d. FEwRA

Answer. a

4, B T 31T HRAW MRS S, Hiese daem onfor ffted e IupHHS TEa AR SRaa?

a. YIads
b. fthTeis
c. =F

d. ey

Answer. b

5. @rdl anfor ariET S (KVIC) Wseh wum o Fgadt gt 8imR?

a. 39T YN Ui
b. 3w R
¢. 3R YNUl Ui
d. fafa $aR

Answer. d

6. DU IML YR IRT 3x WehiH arT Tafsd SRex (WTG) g ok §R S9auad mat 3mg?

a. TSR
b. FCH

c. i@ g
d. ufye s

Answer. b

7. BT R AN YR FHIT Fict gOGRAGED Thed MU HRUIEIET AHTE FRRIGR WeR Heit?

a, S
b. STETER
¢. AR
d. 9=

Answer. a

8. HIURT I qHTEit Y Siga et vgE Magvamnd! ufsdme guroR fadgs doR Fa?

a, U9
b. TERTY
. ;RS
d. ISR

Answer. a

9. P AT TP HY-HoaR AR TSI & HaA?



a. Sifefeman
b. BT
c. St
d.

Answer. d

10. FHIorn SfRrrE FTen IMF = dafaear onfor fRRar gfadewga (RSF) wum Fet ura man?

a. YRd
b. SHTEE
¢. U

d. uTfe&H

Answer. b

11. MY §¢ § gD SNTae A9fiie IRARIS S0l S 3M18?

a. SSARmr
b. gHSR
c. Gfemor anfier

d. s

Answer. b

12. INDUS-X &1 YRd o1 SIoran g §ged IUpH 3Ma?

a. Sfffern
b. g%

¢. guau
d. seait

Answer. ¢

13. Wrehiate! Hlon YR FA YRS ASaNT, HHAN, HaianT oifor qramm Aifd Fedt?

a. TA. Sl IS

b. IHPW RHEH
c. @Rl e
d. IeT XM Higd A

Answer. ¢

14. TR T IP AWTON WU TYH B e

a. 91 TR fesd
b. RIS RIS
¢. TaRRA o
d. e a9

Answer. b

15. "ghad fRicEe” § aaad SN SATUrA?



a. HiTd R

b. AT gERd HEr
c. THITS

d. ¥% AR 3MS

Answer. b

16. 1852 TEd 0N Has SRARITRH = dell, off s <A1 TR SeT Ufgel! AoTeh1g FeeT gt

a. ST YA
b. aTeTHTE RISt
c. I Y it
d. | 42 A TH

Answer. a

17. W) B SUN eTdS PRSI derdl RIAT Hal?

a. WRd R P 1919
b. wrd aRwe HrrET, 1891
¢. HRAR WAz SRIE, 1947
d. YRd TSR BT, 1935

Answer. d

18. TIE AT I URIRH YOI 3fd HRUAN HI0 FEEER g7

a, TS FFH

b. @i aRA e
c. A THEE

d. arE femfa

Answer. b

19. 3O dETR W@eRl et degT URET Hiur gia?

a. SIofRTE 1
b. SrarST foRaTY
c. IR 11
d. v 1

Answer. ¢

20. Tefiate! Bl FRYBTE AT VT Hat?

a, 8T T8IgY
b. ST R srgegarteran
c. PR T
d. Tt Boc T

Answer. b

21. Tt HIUAT SR SFFRITTAHE RIS T RIToT Feit?



a. R
b. S
c. T

d. TR

Answer. ¢

22, et o anf weg wiarn [fd smwed?

a. 1861
b. 1862
c. 1863
d. 1864

Answer. a

23, o auf T, T, 3 A dede 3% YR SRIRe ual RO He?

a. 1915
b. 1916
c. 1918
d. 1920

Answer. d

24, Treiade! Hiot TR fARET QRad wa?

a. WITd SR Al
b. BT REd-areett
c. U5 IEH
d. R =218

Answer. b

25. HRAHA g Hiioe AFGETIaR HERISTHT HH® S0 3T

a. 1a
b. 21
c. 3
d. 441

Answer. ¢

26. EEAATP! B Galt NEARTT § WERIPRE fed IR R 32

a. g ATHR Tl IR
b. STHaSt el SrHaRTg
c. A uall SrHaRva

d. TS PSR

Answer. a

27. TERISIT WAdie! S0 JAGId SHUARTT TG SHIRTY UG Sia@d S?



a. BURITS g3sila {HYRUY
b. VYR geid SIHIRUG
c. BISsRl TISa IR
d. ATRAR Tl IR0

Answer. b

28. Wreliate! Hivrar I8f FAud gl TER Ty § gen rae aRYl ®ie U witd Ha?

a. 2000
b. 2002
¢. 2004
d. 2006

Answer. ¢

29. IRIGFH! YFYST YRATAT HIVAT AT 3G ?

a. PACH
b. iy wew
¢. o
d. T g

Answer. a

30. T TSRIET Weaiet T G HI0d 38?2

a.7g
b. o
c. St

d. F1g™

Answer. d

31. Teiicie! Hlcdd aid 99 RRR HUR 3me?

a. TEaaFRRT
b. ST&T1 geM
c. i@t

d. gt

Answer. a

32. BN YR Wiellate! HIvan YR ITsard fRid 3ime?

a. HicH
b. @

c. 3y TR
d. TRy

Answer. d

33. P HRAT I59 I Mo Fafa der Ided 3MR?

a. TS A1



b. TRId
¢. TERTY
d. ISR

Answer. b

34. 3fgAM A FHER I HIUT S UeRNd U mga?

a. 5l FermR

b. SMf&® TR
c. WRifh® AR
d. STTerET SUERR

Answer. d

35. 30 TR BT HRAT HERIG U Rd 3mR?

a. IdTe

b. a3 FreER 9
c. 9 30T HIRAR

d. g1 @

Answer. ¢

36. TARY 3G HRATHT B0l T 38?2

a. @ A1g
b. 3@
c. FfcH
d. iy wew

Answer. a

37. HRA™ ufget AUt 07 FIa?

a. 3. I TN
b. W Y Hifdg

¢. YU it
d. 7R R

Answer. a

38. YRAHL I8 WHRY TG DI 3¥A?

a. IsquT
b. gEIEA
c. yudt

d. gaquy™

Answer. a

39. IV Yo EUaSt fhaH gar umr s me?

a.30 o
b. 40 I



c.25a
d.35a%

Answer. a

40. yRaWed f<dig oRur e sxvaaet Hiod afd SeEeR emg?

a, 3 TemR ufkug

b. FRBM qefterr frelt

c. e @t wfiedt (PAC)
d. FriieH s

Answer. b

41. Hiv g FRBM Tflen it o gmet?

a. 1947
b. 1950
¢. 2015
d. 2016

Answer. d

42. YR ISTUCATER AbayT fauflia sxvamr sfieR Homar eg?

a, HRA TRarneiey
b. T

c. AHINT e

d. 7ETR

Answer. b

43, YRdre g Aasue sgad e s ava?

a. YRA Agudt
b. BN Sfee

¢. HRAE SR
d. YRArE daueE

Answer. a

44, YRATAT Ydte AT AETERIAT g ehuardl SfRHR Honar 3g?

a. APuAgR Figeq dorell Ry afd
b. Tt

¢. HRAT TR

d. Irsaurd

Answer. b
45, URdg ISTEeAl ST @ o W AERRN Tefia ame?
a.&':i@'d 32

b. eigwe 19
c. =g 21



d. 3F®g 25

Answer. d

46. PR FoeAT YRArAT THeAl S HfaRaR R 3qua Hed HRa?

a. e TR afwg
b. e s
c. g @ aftrh
d. fo<ia sferan

Answer. d

47, YR gt SO g TRUdET wmd, iR ST Saree Ay wmRom axgdlh et smg?

a. gEd Srgeet
b. et S
c. IR S
d. ufgelt argg=t

Answer. ¢

48. YRAT IcTHCAA BT YR Tt I, SiffieR onfdr SrarseraiE At fedeh amg?

a. Fadt STt
b. IR ST
¢. TETd STt
d. 3BTt STl

Answer. d

49. TP 3 &M PTIAT begl HR Pl AaAT?

a.2013
b.2014
¢. 2015
d. 2010

Answer. a

50. IPT 3 e FEEER (NFSA) e d Sy RIS S0l Qriferd Terdm dfedd ot a0 amg?

a, miadt Rear onfdr et A
b. 6 3nfdr 14 aufen mdia go
c. 65 I9fadia aRg RS

d. 3idied oF e W

Answer. d

51. YRarda I SR SiftEER (NHM) Tffie de & 3mg?

a. RFOHAAT UG gfae GYRo!

b. 3R famr AR sidesTah FRor
c. JTPT TR ST FHRor

d. IgeT e Uieed a0



Answer. a

52. T R P SR SREET g T TR

2. THU TS &R HH B0

b. Aiewimede tRftamer ufdsy onftr &+ F=o1
¢. ITdT JGeRTd g HO0

d. YRar= THU S Tl a6 HRor

Answer. d

53. porr aff P R SRR wiTeEr STe?

a. 2000
b. 2010
¢. 2013
d. 2020

Answer. ¢

54, Wieltate! B sgemart T AERieEr (MPI) U6 9¢d 3ia?

a. 3=l e Taaus (FDI)
b. GO Wit

c. TR TR SRR
d. 779 RAT HeTe(GNP)

Answer. b

55. HRATd TS IPTT AA01 SUSIAehT AR (NRLM) SEF 14 31182

2. Y-SRI 30T IGNT BT e 334 et S B

b. FHfawTEs SeHTE a6 HRO!
c. I YeRIAE Hithd SRI¥aT QR0

d. TEdE 1T RcAieRTe Wide 0

Answer. a

56. Wietate! B THa Je™ AERiems (HDI) arRd SR i sreamad diemm . aig?

a. fom wamar fdsie (GPI)
b. &1 faswra fdwie (GDI)
c. forr srgomar P& (GII)
d. T e Ium (GEM)

Answer. ¢

57. DU SHIARIPY W Wy [ Barar (SDG) U=y s faan?

a. IFfA® SRFG "aedr (WHO)
b. faRIPE TOR (IMF)
¢. g% I (UN)



d. 9ifas AR e (WTO)

Answer. ¢

58. WISaU®! BT JgHIT AHEET T WG Tk 3AR?

a, ACIE TR

b. (Ui ufhdme Thia ARG GEHIT
c. T-ugf gH

d. SHHIEG YT

Answer. b

59, WAt BT HRAME T HH PRUATR AT ST WA JRET A¢ HGAR IRT 3MR?

a, AT WHRH e W9 TSHARIA (NASA)

b. weTen i I T ISR FH FrE (MGNREGA)
c. Rgrd 9% sifs f3ar (RBI)

d. ¥R gfaye enftr fafw #ise (SEBI)

Answer. b

60. "THTARS d1G" & Theu B 3MR?

a. THH S0 AfaIdaR Held a6

b. onfie a6 S HISTS W9 & @Y g
c. AR SETE a6

d. TR urT Sae ae

Answer. b

61. UG Gl SN UGG A1d B 3R?

a. SyTarSt
b. dre-t

¢. TS
d. Siffifarsit

Answer. a

62. TP HII T UK |9 3me?

a. TI8f1 BligdeR
b. 3R

c. Taos

d. Erist

Answer. ¢

63. TITAU®! BT T HRTH 38?2

a. 30F J&

b. TAE FgU
c. foedt et

d. U gy



Answer. d

64. AT WA =T B B 3RIA?

a. T
b. Iccadmar R
[ NE]

d. gTEdme

Answer. b

65. BT WHAGR TS THIRITT W 3R arward fbar arean?

a. Bt
b. BIRIRIAR™
¢. g
d. faciftem

Answer. a

66. R IMERE foe eI emwR?

a.Ld
b. Le
c.Pb
d. Pd

Answer. ¢

67. Siedl T MY IURYT S TTEHTER SaAgd 3dl?

a. g™
b. STgelt
c. Bt
d. 5

Answer. b

68. TWcliale! HIUA Wper LA IeERT 3MR?

a, T
b. ¥
c. ¥
d. dgHE

Answer. d

69. FTEAT Fa SR B MR?

a. BIRIRIARE
b. R@EGH
c. TV& geaia =y
d. T e

Answer. b



70. WIS BT Th SHehell U, 3Me?

a. ETH
b. IR

c. Uegftrfae
d. PierrH

Answer. a

71. Wit ST TE PEH TeigR TAIG WYUAHTE! aTRET SHI?

a. 101 AIAH< IRARTT
b. ¥l Tl

c. &Rl

d.T T

Answer. ¢

72. 0T Y fIU S BT MTUG BT 8T T S JHH 3/l 2

a. fetharm
b. febaerH
c. YR

d. ufafds

Answer. d

73. TEate! BT SN IauagS gid?

a. TAPIES

b. BT

c. TR

d. IRFGAR

Answer. ¢

74.20 @b AT @R fbdl gxiclen gdta?

a. 140
b. 160
c. 190
d. 170

Answer. ¢

75. U1 Heanie S Ferred Jardt SR 28 IR, 316 IuiHaR e e ki o1 orfa?

a.92
b. 98
c. 96

d. 91



Answer. a

76. TSGR HA: 70 — 40 x 2 + 12

d.2

Answer. d

77. U1 R AIET 12368 3R, @) 2382 1 R Sl 4928 G 3MRd. o) WexTdie qaofie TRer Q.

a. 5055
b. 5058
c. 5042
d. 5030

Answer. b

78. TRIET AT TR 3,60,000 T TS, T AIRYSH TR KT,

a. 30,000
b. 20,000
¢. 25,000
d. 45,000

Answer. a

79. & et WS 90 SR, ufewdr F e 120 3nfor 80 Smed. fawst e wher

a. 80
b. 70
¢. 90
d. 60

Answer. ¢

80. SR A e 160 IRY e M 3Nfr @ didl 8 gfie IR R IR F I MY

a. 15

Answer. d
81. 60 U 4003 fHdt Tab?
a. 12

b. 18

c. 15



d. 16

Answer. ¢

82. 20 Wit fFua 80000 313, 4 w=idt foma e

a. 16000
b. 18000
¢. 12000
d. 8000

Answer. a

83. 30 3nfor 603 LCM

a. 30
b. 45
c. 15
d. 60

Answer. d

84. 40 30T 1209 HCF

a. 80
b. 120
¢. 40
d. 20

Answer. ¢

85. 3 o yuifeian auidt a8 365 9. O Ui Jner

a. 13 offor 14
b. 14 3nfor 12
c. 12 amfor 18
d. 14 anfor 13

Answer. a

86. a+b=4 a"2-b"2=16 a-b="?

d. 4

Answer. d

87. UH! Hicomd 80 il amgd SfdT wpor 120 faemeff smgd. &R gerht T e

a. 30

b. 60

c. 40



Answer. ¢

88. it S3aan Ui wivht s feam?

a. ¥ T AbSHTS
b. SRS T
c. §F YfmeT
d. PRIt

Answer. d

89. Hivrr aff o9 s AdRiemr (HDI) uReg war Tar?

a. 1990
b. 2001
c. 1947
d. 2010

Answer. a

90. FHIUAT VM ¥afd 3= HDI O 3HRd?

a. fcERds
b. ST

c. =

d. afFa

Answer. a

91. TSaU®! BV TERN XM= AT e FExie™ (HDI) THE I36 37?2

2. T T

b. 79 SHfew Uisae (GDP)
c. TR0 Amae

d. ST At SRRl e

Answer. d

92. A U FHRAT FABIT 3T SR B 30 312, 60 3 3T 60 =M 3M3a?

a, Wad Be
b. P B
c. gAfgYS Bt
d. gays e

Answer. a

93, mifcreruefia TRl T@m /e 1123587221,

a. 12
b. 13
c. 11
d.9

Answer. b



94. SR BED=DEB BAD=DAB CAT=?

a. ACT
b. TAC
c. CAT
d. ATC

Answer. b

95, 10800=a1 HToidhid TR =T

a. 57
b. 60
c.72

d. 68

Answer. b

a. 14
b. 22
c. 32
d. 320

Answer. ¢

97. 800 5% 5% U fadll?

b.4
c.6
d. 3

Answer. a

98, ffeig<= yHT 3 armg:

a.nr*h
b.3nr*h
c.2nr*h

d. 2/3(mr* h)

Answer. a

99, Iy AHAE Hf 16cm 3 12cm AT YT AHHR & bl fia?

a. 96 cm”2

b. 98 cm”"2



1. (c)
11. (b)
21. (¢)
31.(a)
41. (d)
51. (a)
61. (a)
7. ()
81. (c)
91. (d)

c. 102 cm™2

d. 89 cm”"2

Answer. a

100. THT NS Id TKid IRBS dis MR, Vg ST BN 33 T HHIGIER MY AT Ageran ISl aloel Bad 16 SRl SHed. a1 I o

ailE SReAr 2en?

a.49
b. 50
c. 51
d. 48

Answer. a

2.(c)

12. (c)
22. (a)
32.(d)
42. (b)
52.(d)
62. (c)
72.(d)
82. (a)
92. (a)

3.(a)

13. (¢c)
23.(d)
33.(b)
43. (a)
53.(¢c)
63. (d)
73. (¢)
83.(d)
93. (b)

4. (b)
14. (b)
24. (b)
34.(d)
44. (b)
54. (b)
64. (b)
74. (c)
84. (c)
94. (b)

5.(d)

15. (b)
25.(¢)
35.(c)
45. (d)
55. (a)
65. (a)
75. (a)
85. (a)
95. (b)

Test Answer

6. (b)

16. (a)
26. (a)
36. (a)
46. (d)
56. (¢)
66. (c)
76. (d)
86. (d)
96. (¢)

7. (a)

17. (d)
27. (b)
37.(a)
47. (¢)
57. (c)
67. (b)
77. (b)
87. (c)
97. (a)

8. (a)
18. (b)
28. (c)
38. (a)
48. (d)
58. (b)
68. (d)
78. (a)
88. (d)
98. (a)

9. (d)
19. (¢)
29. (a)
39. (a)
49. (a)
59, (b)
69. (b)
79. (c)
89. (a)
99. (a)

10. (b)
20. (b)
30. (d)
40. (b)
50. (d)
60. (b)
70. (2)
80. (d)
90. (a)
100. (a)



